SEG.MEG
Sega Mega-Tech

" SEGA
VIEGA-TECH

L R = g
BE Vi3 3 mnd B

S BSYSTEM

OWNERS MANUAL

MANUFACTURED UNDER THE LICENCE OF SEGA ENTERPRISES LTD.
by
Deith Leisure Manufacturing

Manual No. 420-5901



e s e e e e

10.

1.

12.

12.

TABLE OF CONTENTS

INTRODUCTION TO THE OWNERS MANUAL
HANDLING PRECAUTIONS

COPYRIGHT AND LICENCE LABELS
PRECAUTIONS CONCERNING THE PLACE OF INSTALLATION
NAME OF PARTS

OPENING THE FRONT MASK

10" MONITOR

CHANGING GAME CARTRIDGES

DIP SWITCH SETTINGS

HOW TO OPERATE THE MEGA-TECH GAME
SELF TEST FUNCTIONS

THE SENTINEL COIN MECH

PARTS LIST

WIRING DIAGRAM

SPECIFICATIONS

INSTALLATION SPACE:  Width 760mm (29.9")
Depth 530mm (20.9")
Height 1760 (69.3")

POWER: 190 watts
CAT.: 20" Monitor & 10™ Monitor
WEIGHT 113Kg

11

12

17

23

39

Note: Descriptions herin contained may be subject to improvement changes without notice.



Sega + Mega-Tech System Owners Manual

INTRODUCTION TO THE OWNERS MANUAL

Sega Enterprises, Ltd., supported by its high level electronic
technology of LSI's, microprocessors, etc. and a weatlth of
experience, has for more than 30 years been supplying various
innovative and popular amusement machines to the world
market. This owner's manual is intended to provide detailed
comments together with all the necessary information covering
the operation in general of electronic assemblies,
electromechanical servicing and spare parts listing for the Sega
Mega-Tech system. The manual is intended for those who have
a knowledge of electrical and technical expertise especially in
>'s, CRT's, microprocessors, efc. Take the time to read the
manual before attempting to work on the machine. Should there
be a malfunction, non-technical personnel should under no
~ircumstances attempt to touch any of the internal parts of the
achine.

1. HANDLING PRECAUTIONS

When installing or inspecting the machine be vary careful of the
following points and pay attention to ensure that the players will
enjoy the game safely.

a) Be sure to turn the power off before working on the machine.

b) To insert or pull out the plug quickly is dangerous, do not pull
by the cabie but by the plug oniy.

c) Ensure that the grounding connections are making good
connection where so specified and that the power cord is not
damaged or exposed.

d) Do not use any fuse that does not meet the specified rating.

‘' Check all connections to the power supply and game board.

., Use only recognised and approved digital test equipment
should it be necessary to work on the Mega-Tech logic
board.

. «ter the initial inspection, confirming that there are no
irregularities, turn the power on.

/\ i IMPORTAMNT [ In the Uniied EKingoom |
/\\ / '\ Mgains Supply (ACHD Vac, 50 Hr only)
| . WARNING - THIS APPARATUS
! RISK OF ELECTRIC SHOCK K ! N\ MUST BE EARTHEI
/ DO NOT OPEN v N

CAUTION: TO REDUCE THE RISK OF ELECTRIC SHOCK.
DO NOT REMOVE COVER (OR BACK). ;
NO USER SERVICEABLE PARTS INSIDE. A
REFER SERVICING TO QUALIFIED PERSONNEL.

Manual No:420-5801 + Edition 1.0 + Sega Mega-Tech Owners Manual Page 1



—

Sega - Mega-Tech System Owners Manual

2. PREVENTION OF COUNTERFEITING AND
CONVERSION

LABELLING

To prevent counterfeit and conversions, the following labels are
placed on all Sega products. To ensure you have a genuine
Sega product please always check that it is fitted with a Sega
license seal. They are used to prevent illegal or unauthorised
copying of Sega products and are your guarantee that you have
been supplied with a genuine Sega product.

ORIGINAL SEAL

ORIGINAL SEAL 4

1 This type of seal is placed on machines manufactured by Sega
COUCT 15 TESIHED AND |
s, 51
I MEGA-TECH SYSTEM K ‘ _ _
L g | This type of seal is placed on kits, such as printed circuit
_ -et: boards, of Sega products.
A0

COPYRIGHT NOTICE
This Sega product has the following copyright notice:
© SEGA 1989

This signifies that this work was disclosed in 1989 and is the
property of Sega Enterprises, Ltd.

ORIGINAL #
MEGA-TECH SYSTEM

I
!
I
:;, NO. 10070
i
1

Page 2 Sega Mega-Tech Owners Manual + Edition 1.0 - Manual No:420-5901



e g e b feeey bemew el eyl el el e el

Sega « Mega-Tech System Owners Manua)
oL

3. PRECAUTIONS CONCERNING THE PLACE OF
INSTALLATION

The Sega Mega-Tech System is an indoor video game.
DO NOT install it outside. Avoid installing in any of the places
listed below so as {o ensure proper usage:

a) Places subject to rain or water leakage, or condensation due
to humidity.

b) In the proximity of an indoor swimming pool and/or shower.

c) Places subject to direct sunlight.

d) Places subject heat sources from heating units, etc., or hot
air.

e} In the vicintity of highly inflammable or volatile chemicais or
hazardous matter.

f) Sloped surfaces.

g) Do not place near or adjacent to fire exits and/or fire
extinguishers.

h) Places subject to any type of violent impact.

i) Dusty or inhospitable envionments.

CAUTION

See instructions on page 7 for the installation
and removal of cartridges.




Sega « Mega-Tech System Owners Manual

NAME OF PARTS

1 Design Plate MGS-1030

2 10" Monitor 200-5126

3. Coin Mechanism

4. 20" Monitor 200-5095

5 Control Panel MGS-2000
Door Switch #1

7 Switch Unit MGS-1031
Door Switch #2

9. Cash Box

i0. Door Switch #3

11 Data retrieval door

SWITCH PANEL  Switch Panel MGS-1031

Demagnetiser switch
Used for removing the on-screen colour unevenness

Service Switch
Service engineers credit switch bypassing the meter
system.

Test Switch
For the functions of this switch see 'Self Testing'

Left Speaker Volume

Right Speaker Volume

Manual Nod2D-55801 = Edition 10 =

Sana Mega-Tech Dwners Manual Page 5




G

Sega +- Mega-Tech System Owners Manual

e et

6. OPENING THE FRONT MASK .L:f
a) Remove three tamper-proof screws (1)

b) The top mask is hinged, lift to gain access to:
The 10" menitor and controls
The coin mechanism
The speaker and lamp assembly.

IR f.dy ¥ (.'f‘u'

COIN MECHANISM

To gain access to the comn
mechanism remove screw (2)
and the coin mechanism will
hinge forward to allow access
to the connectors and
manifold.

Page 6 Sega Mega-Tech Owners Manual + Edition 1.0 » Manual No:420-5901



Sega + Mega-Tech System Owners Manual

10" MONITOR CONTROLS

10.

V. Hold Controls the vertical hold of the image.

V. Size Controls the vertical picture size

V. Pos Controls the vertical position of the image.

H. Hold Controls the horizontal position of the image.

H. Size Controls the horizontal picture size.

H. Pos Controls the horizontal position of the image.

Bright
B. Gain
G. Gain

R. Gain

Controls the brightness of the image.

—_—

Adjust to obtain the appropraite contrast
and white balance.

Do not adjust the RGB Gain controls unless necessary.

Manual No:420-5901 + Edition 1.0 - Sega Mega-Tech Owners Manual F’age 7




Sega + Mega-Tech System Owners Manual

8. REPLACING THE GAME SOFTWARE CARTRIDGES.

1. Make sure the power to the Mega-Tech game is off before
attempting to change or insert Game Software Cartridges.

. When changing a Game Software Cartridge the lable should
be facing the right hand side of the cabinet as viewed from
the front and the notch on the cartridge facing towards the
front of the machine.

. Gently remove a Game Software Cartridge making sure that
the game board is not stressed.

e

REAR OF CARTRIDGE
When inserting the cartridge this side should
facing the left of the machine when viewed
from the front.

( SEGA B
Il | MEGA -TECH |
SYSTEM

MNotch —_ ‘.| |
i 1
(1] |

; FRONT OF CARTRIDGE
When inserting the cartridge this side shouid
facing the right of the machine when viewed
from the front.

Page B Sega Mega-Tech Owners Manual « Edition 1.0 + Manual No:420-5901




Sega - Mega-Tech System Owners Manual
| e

COIN / CREDIT OPTION SWITCH SETTINGS DIP SW 1 IMPORTAMNT NOTE
TOPTIONS |[12[3 ][4 678 For & more detaiied
Coin Coin 3 & Coin 4 Inhib ON | ON explanation on the switch
384 Cain 3 Accepl + Coan 4 Inhibit| ON | OFF seltings see page 10
| . Cain 3 Irihibil «Coin 4 Acoep! | OFF | OM
hibAS ¢ i3+ Coind Accept | OFF |OFF |
Coin4 |Value of10 per Credit ON [ ON | ‘
{Lowest |Value of 8 per Credit OFF | ON

Value) & |value of 6 per Credit OM O
Coin3 Ivalue of 5 per Credit OFF |O
m&-ﬁ Value of 4 per Credit OMN | ON
 and are used | Yalue of 3 per Credit OFF| ON
1o give credits Value of 2 per Credit ﬂ'" I'JFF
s setbelow.} | Value of 1 per Credit OFF |OFF

Coin 2 Inhibited | ON | ON | ON
Coins / Credits OFF| ON | ON
Credits { Coins ON |OFF | ON
Credits / Coins OFF |OFF | ON
Credite 7 Coins ON | ON |OFF
Credits / Coins OFF| ON |OFF
Credits / Coins ON |OFF | OFF
Credits / Coins | | | |oFF|oFF|orr

ON
On
ON
ON
OFF
OFF
OFF
OFF

Coin 2

+ it P o=b PO

[ETRE Y.

OPTION SWITCH SETTINGS

COFPTIONS |1
Inhibyited M
Cradit ! Coin OFF
Credits [ Coan 0N
Cradits [ Coln OFF
Creditg [ Cosn oM
Crodis [ Coan OFF
Credits [ Coin oM
Crachills: [ Coan OFF
Corpolits [/ Coan OM

=)
3
1]
-3
X
=

i
o
\J
| §
ICO
E@g
o ®
k3
11
|
| —
 —

n:-wwa'unum-gl
5
s

Coin 1
(Highest

FEEFFEEFEAS
-
999222299¢|~

. (4
=
=
U
£

value Credits / Coin OFF ON
coiny) 10 Crogits [ Coin Ol | OFF | OW | OFF
" Credits [ Coin OFF | OFF | ON | OFF
12 Crescits [ Coin O | Ok | OFF | OFF
13 Credis ! Coin OFF | ON | OFF | OFF
14 Crisdis [ Coin OM | OFF | OFF | OFF
15 Credis ! Goin OFF | OFF | OFF | OFF
D:30 Per Credit OFF | OFF | OFF | OFF
1:00 Per Credit ON | OFF | OFF | OFF
1:30 Per Credit OFF | ON | OFF | OFF i
2:00 PerCredit ON | ON | OFF | OFF
2:30 Per Credit OFF | OFF | ON | OFF
3:00 Per Credit ON |OFF | ON | OFF
3:30 Per Credit OFF | ON | ON | OFF
GAME |4:00 Per Credit ON | ON | ON | OFF
TIME 4:30 Per Credit OFF | OFF | OFF | ON
SETTINGS|5:00 Per Credit ON | OFF | OFF | ON
5:30 Per Credit OFF | ON | OFF | ON
6:00 Per Credit ON | ON |OFF | ON
6:30 Per Credit OFF |OFF | ON | ON
7:00 Per Credit ON |orFFl oN | ON
7:30 Per Credit OFFI ON | ON | ON
| FREE PLAY | ON|lon | oON| ON

t Manual No:420-5901 + Edition 1.0 + Sega Mega-Tech Owners Manual Page 9



o3 vbed

Sega - Mega-Tech System Owners Manual

m

How to use the Coin/Credit switches

For international reasons the value of coins are referred to as Coin 1,2,3 and 4. Coin 1 being the highest vaiue coin
and Coin 4 the lowest. e.g. For the U.K.

Coin 4 = 10p Coin, Coin 3 = 20p Coin, Coin 2 = 50p Coin, Coin 1 =£1 Coin.

The switch settings provided offer a wide range of options. It should be remembered that credits = time and not
complete games.

Convert your required currency into units i.e.

For the UK For Spain For Germany For Italy ,
10p = value of 1 25PTs = value of 1 50Phg = value of 1 S0Lira = value of 1
20p = value of 2 50PTs = value of 2 1DM = value of 2 100Lira = value of 2
50p = value of 5 100PTs = value of 4 2DM = value of 4 200Lira = value of 4
£1 = value of 10 200PTs = value of 8 5DM = value of 10 500Lira = value of 10

Take an example where the game will be set for one credit to equal one minute of time with the lowest value coin
buying 1 minute, then the settings would be as follows:

Coin value Credits Time (Minutes)
1 (10p/25PTs/50Phg/50Lira) 1 1.00 DIP1 Pos 1&28384&5 = Off Off Off Off Off
2 (20p/50PTs/1DM/100LIra) 2 2.00 DIP1 Pos 1&283&4&5 = On On O Off Oft
4 (100PTs/2DM/200Lira) 4 4.00 DIP1 Pos 68788 = Off On Off
5 (50p) 5 5.00 DIP1 Pos 6&7&8 = On Off Off
8 (200PTs) 8 8.00 DIP 2 Pos 1&2&3 = On On Off
10 (£1/5DM/500Lira) 10 10.00  DIP 2 Pos 1&283 = On Off Off
(For time in one minute intervals set DIP 2 Pos 5&6&7&8 = Off Off Off Off)
OPTION SWITCH SETTINGS DIP SW 3
O TIONS 123 £|
MONAURAL ON OFF |OFF
| SOUND IsveRED oFf|  |oFF|oFF|
JAPAM ON |OFF | OFF|
BIP Sw 1 E EXPORT OFE || OFF G‘IFF
(T
DIP Sw 2
[ MASTER VOLUME CONTROLS
@e B
DIP SW 3 TR EE Although there are left and right volume controls fitted
= conveniently to the switch panel to the right of the lower front
door, these are slave controls. The maximum sound level is
controlled via the two pre-set controls positioned on the Mega—
Tech logic board.
If turning the slave controls on the switch panel does not
provide an adequate sound level _
adjust the left and right controls
on the Mega-Tech logic board. DIP SW 1
[
DIP sw 2
Pre-set master
volume controls — -—-——'gp.s\”@
left and right. B7654521

Page 10 Sega Mega-Tech Owners Manual - Edition 1.0 « Manual No:420-5801



|

- — I—

COIN/CREDIT

MEGA TECH SYSTEM (834—6937-01)

OPTION SWITCH SETTING

o

b

'M_’H.-LIE COlN "ér |

v;u.ue coIN )'f
fﬂﬁ_

DIP 5W 1
OPTION A ClEN T TR ET
COIN 3 COINT = COIN & Inhibit oN [oN
and COIN 3 Acceor « COIN & Inhibis | ON | OFF
COIN COIN 2 Inhibit « COIN & Acceot | OFF | oM
Inhibit COIN 3 + COIN 4 Accepr OFF | OFF
Vaiue of 10 Per Credit DN |ON |ON
e %mffﬁd Valumof 3 Par Credit oer [oN | on
COIN 3 Valus of & Par Cradit oM OFF | oM
- Value of 5 Par Credit OFF |OFF | om
[Thass coina are Vaiue of 4 Per Credit oM | ON OFF
totsiised and are vsed | Yajug-oi 3 Per Credit OFF |ON. | OFE
IO Qive CroQits 83 38T | valus of 2 Per Credit oM. | OFF | oFE b
B, ) Value of 1 Per Credm | OFF |OFF | oeE |
CON 2 Inhibited oN | ON oM
i Comnsd Cradim OFF | ON: | ON
I Cradit/ Can oM OFF | OM
cOIN 2 1 Credits/ Comn 1 OFF | OFF | ON
1 Credis/ Comn 1 oM ] OFF
1 Cradus? Con OFF | ON OFF
5 CreduadCon onN QFF | OFF
B Credits/ Coin OFF upp.1|:|,|=|:
£ ‘Whan inhibiung COIN3 snd COIN & sor 1o valus af | pgar credic
OPTION SWITCH SETTING DIP SW 2
OPFTION I 4 3 4 5 & 7 -]
COIN 1 inhibited OH |OM |ON |[OM
I Cradit! Coin OFF | ON ON |ON
1 Creditaf Com (a1} OFF | ON o
1 Ciedita/ Com OFF |OFF [ ON | ON
i Credims/ Comn el OM OFF | ON
5 Credits/ Com OFF {OM | OFF |ON
ol 1 & ﬂtldi‘l::g-mn aM g;!: QOFF | OM
T Credind Comn QFF OFF | ON
(HIGHEST VALUE COINY &/ lobe) Coin on low |on |oFF '
1 5 Credma/ Comn OFF |OM |ON |OFF
| 10 Credite/ Comn ON | OFF |ON |OFF
1 Credim/ Coirv QFF | OFF | 0N OFF
| 12' Cregita/ Cows aN | oW | OFF |OFF
13 Crecties/ Coin OFF LON | OFF |OFF
l 14 Cradita/ Con am | ofE | 0BF | 0FF
15 Creoima/ Con OFF | OFF | OFF | OFF
T30 Per Credit oFF | oFF | oFE | oFF
O Par Credit OH OFF | GFF | OFF
1" 30" Per Credic QFF | ON. | OFF | OFF
T o0 Par Credit oM QM. | OFF | OFF
T30 Per Credit OFF | OFF | OM- | OFF
T Par Credic OM | OFF |OM |OFF
T Ir Per Credit OFF | O |ON | OFF
¥ OO Par Credir oM | ONM |(ON |QFF
GAME TIME SETTING £ 30" Per Credit OFF | OFF | OFF | ON
T 00" Per Credit oM | OFF | OFF | DN
TIF Per Credit OFF |ON | OFF |ON
6 00" Per Credit ON |ON | OFF | ON
F X' Per Credit OFF | OFF |ON | ON
T DX PFer Credit ON | OFF |ON | ON
T Ir Per Credit OFF |ON.- |ON |OM
FREE PLAY OH |O8 |ON | OMN
OPTION SWITCH SETTING DIF SW 31
OPTION i z T i E
MAOH oN == COIN | — HIGHEST
SOUND s COWN 2=
TEREQ oEE CEEM 3=
is COIN 4% LOWEST
JAPAN oN OFE
MODE
ExXPOAT OFF
OFF OH
ADVERTISE SOUND
oM OFF

AT

T TTe AL




e T I N T [ R -

Sega + Mega-Tech System Owners Manual
“

10. HOW TO OPERATE THE MEGA-TECH GAME

1. First make sure that the cartridges are correctly inserted
and then turn the power ON.

2. inthe attract mode with no coin (credit) registered the
Demo screens are sequencially shown on the main
monitor (207). Also, the sub-monitor (10") displays the
individual game instructions.

Push the ENTER button to see the game instructions on
the next page and also the game's (1 through 8) menu.

3. Insert coins or register credit with the service switch and

the timer's countdown starts. Remember that credit is for
time and not complete games.

4. The 1 through B game tities will be shown on the sub-
monitor. Use the SELECT button to select a game.

5. Push the START button to begin the game.

6. The player will be warned near the end of the time limit by
on-screen flashes and audible alarms.

7. When the time is up, "TIME UP" will be displayed on the
screen.

8. Inserting a coin anytime during the game enables the
extended game time.

9. After play is finished, the game returns to the aftract

mode.
1 & 2 PLAYER START BUTTONS
ENTER BUTTON GN;S TST%LECT
11. CONTROL PANEL l‘( )
o o o . o

Game Select Button Game Selection Button —————— R L —

! | |

i i B | OOl
1P Start Button 1 Player Start Button ,: P é))_.:. f :‘3 O

I i i
2P Start Button 2 Player Start Button ' i d i

: 1PSIDE | i 2P SIDE
Enter Button The Sub-monitor screen | ;

change button

Manual No:420-5901 « Edition 1.0 = Sega Mega-Tech Owners Manual Page 11




Sega - Mega-Tech System Owners Manual

M

13. SELFTEST

The Mega-Tech system has an in-built diagnotics test for
buttons, switches and timing systems.

1. Test ltems

a) BOOKEEPING: Checks the coin input, number of
credits and total play time.

b) DATA CLEAR: Clears the bookeeping data.

¢) INPUT TEST: Checks alt pushbuttons and joysticks.

d) COIN TEST: Checks all coin inputs.

e) OUTPUT TEST: Checks alarm and on-screen
message.

fi DIP SWITCH TEST: Checks all DIP switch settings.

g} ALARM TIME SET: Checks time settings of the alarm
and on-screen message.

2. HOW-TO-TEST
a) Press the TEST button and the following screen will appea

b) When proceeding to the next test item, move the * (asteris!
mark to the corresponding position by pushing the TEST buttc

—

[NFORMATION ¢) When testing only a certain item, push the

™ BOOK KEEPING JOYSTICK (UP/DOWN) to move the * to the desit
?ﬁg&%&g‘? position, and then press the TEST button to enter
COIN INPUT TEST that particular item's self-test.
OUTPUT TEST
DIP SWITCH TEST d) To exit the self-test and return to the game mode,
ALARM TIME SET bring the * to the position of EXIT and push the
EXIT TEST button.

SELECT BY JOYSTICK

N PUSH TEST BUTTON S

Page 12 Sega Mega-Tech Owners Manual + Edition 1.0 « Manual No:420-5901



I

— — a— P w— — e el s e —]

Sega « Mega-Tech System Owners Manual

3. TESTITEMS AND DESCRIPTIONS

3.1. BOOK KEEPING

a) By using the joystick, book keeping 1 and 2 screens can be
alternated. To return the screen to INFORMATION, push the

TEST button.

BOOK KEEPING
COIN | Highest value

N
000000 -,

Total coins in

COIN 2 000000 f,-

COIN 3 000000 "["

COIN 4 Lowest value Q00000 Total coin credits
COIN CREDITS 000000 -——

SERVICE CREDITS
TOTAL CREDITS
DOOR 1

000000

OR 2 00
SELECT BY JOYSTICK
PUSH TEST BUTTON

000000 ~—_|
0000 --—

S

000000 w«——— Total service credits

Total credits

Total number of times
doors opened

; BOOK KEEPING 2

GAME 1 0000HOOMOO0S

GAME 2 0000HOOMOOS

GAME 3 0000HOOMOOS

GAME 4 000OHOOMOOS

GAME 5 0O0OHOOMOOS

GAME 6 000OHOOMOOS
. GAME 7 0OOOHOOMOOS “&
i GAME 8 0000HOOMOOS *

Each cartridge's total
game play time.

POWER ON TIME 00000HO0MO0S <——— 1otal power-on time

) _/I

—m

Push the TEST button to proceed 1o the next

item

Manual No:420-5901 - Edition 1.0 -

Sega Mega-Tech Owners Manual Page 13



Sega - Mega-Tech System Owners Manual
“
DATA CLEAR

To clear the book keeping data, bring the * to YES by using
the joystick, and then push the SELECT button.

-
SURE 7
® YES
N
SELECT BY JOYSTICK
b PUSH SELECT BUTTON ¥
Push the TEST button to proceed to the next item
INPUT TEST
a) Checks for correct function of switches.
b) When each switch is operated, if 'ON' is displayed, the
switch is working correctly.
¢) When 'DOOR 1" or 'DOOR 2' is opened, if the 'OPEN' is
displayed the switches are working correctly.
P
SURE 7
® YES
NO
SELECT BY JOYSTICK
. PUSH TEST BUTTON !

Push the TEST button to proceed to the next item

Page 14 Sega Mega-Tech Owners Manual + Edition 1.0 « Manual No:420-5901



Sega ¢« Mega-Tech System Owners Manual
%

3.4. COIN CHUTE TEST

a) When a coin is inserted, if 'ON' is displayed, the coin
validator is working.

COINCHUTE TEST

COIN 1 OFF
COIN 2 OFF
COIN3 OFF
COIN 4 OFF

Push the TEST button to proceed to the next item.
3.5. OUTPUT TEST

a) By using the joystick, bring the * to the corresponding
position and check ALARM or FLASH. When the ALARM is
to be checked, push the SELECT button to have ALARM
sound and push it again to stop the ALARM sound.

When FLASH is to be checked, push the SELETCT button
to start the on-screen FLASH, push again to stop the
FLASH.

OUTPUT TEST

* ALARM
FLASH

SELECT BY JOYSTICK
El__IEiH TEST BUTTOM

Push the TEST button to return to the main menu

—

—— ——
Manual No:420-5901 - Edition 1.0 « Sega Mega-Tech Owners Manual Page 15




Sega + Mega-Tech System Owners Manual

e e B e e o e~

3.6. DIP SWITCH ASSIGNMENTS

a) This screen will display the current settings of the DIP
switches.

b) The display shows coin denomination, coins and credit
combination settings and the timer setting.

-
12 3

1 2 3

TYPE
4* C
3*C
2% C ACCEPT
1# C ACCEPT

\ TIME 3

DIP SW 1
4 5 6 7 8

OFF OFF OFF OFF OFF OFF OFF OFF

DIP 5w 2
4 5 6 7 8

OFF OFF OFF OFF OFF OFF OFF OFF

I COINS CREDITS
1 COIN 2 CREDITS

:00 PER CREDITS

Y

Push the TEST button to proceed to the next item

3.7. ALARM TIME SETTINGS

a) Allows for the setting of the timer for ALARM and on-screen

FLASH that warns the player of the limited remaining play
time.

* ALARMTIME 15 SEC
FLASHTIME 10 SEC

SELECT BY JOYSTICK

y

y
b) Select ALARM or FLASH as required by moving

the joystick up or down and set the timer period
from 00 to 30 seconds by moving the joystick left
or right.

c) The timer when set as above will warn the player
just before the game is over by the ALARM or on
screen FLASH.

Push the TEST button to proceedto the next item.

3.8. EXIT

a) Bring the * to EXIT and push the TEST button to return the
screen to the GAME mode.

Page 16 Sega Mega-Tech Owners Manual - Edition 1.0 + Manual No:420-5901



Sega + Mega-Tech System Owners Manual
m

SENTINEL TECHNICAL AND SERVICING INFORMATION

Coin Mechanism Assembly

The Sentinel Coin Mechanism is shown in expioded form at the back of this
manuval.

A rundown is provided between the reject gate (no. 42) and the body (no. 7)
along which are placed three coils of different shapes and sizes. The first coil
(no. 18) is a large diameter round coil which is piaced at the front of the
rundown. Coit number two is a smaller round coil (no. 14), which is situated
in the gate (no. 42) and the final coil is a wrapround (no. 20). If a coin having
passed the three sensors is deemed true the accept gate (no. 40} is opened
“v energising a solenoid (no. 23A) and the coin passes through the accept

Jil {no. 2B). Having cleared the accept coil, the accept gate is closed and a
credit signal is generated. If the mechanism is fitted with a sorter, this is
energised at the same time as the accept flap and is reset once the photo-
cells {no. 47) have been obscured and cleared again.

-~0in Entry and Exit Options

Option One—Front Entry

The front entry option is achieved by fixing to the basic assembly, pants
numbered {6,8,9.12,13.15.16.). In mosi cases this assembly will then be
used in conjunction with the frontplate parts numbered {1,2,3,4,5,44). This
option can be either direct or indirect reject and can also be fitted with either
a single exit port or a four coin sorter.

Option Two—Top Entry

This is achieved by adding to the basic assembly, parts numbered (51, 52,
53, 54, 55). This unit can be fitted with either a single exit port or a four coin
sorter.

Coin Sorter Module
When fitted to the assembly the sorter allows for-way sorting. This is
achieved by two incorporated flaps (no. 27, 36) which are actively driven by
solenoids (nos. 23 B & 23 C). The tirst flap (no. 36) is a metal construction,
hich diverts the coin to one of ports A or B at the back of the assembly
+hen the solenoid (no 23C) is not energised, and to one of poris C or D near
the centre of the mechanism when the solenoid (no. 23C) is energised. The
long plastic divertor flap (no. 27) which runs the length of the sorter., is used
to select between ports A and B or between ports C and D under the contro!
“the solenoid (no. 23B).

Two sets of photo-cells (no. 47) are located at the bottomn of the sorter which
reset the solenoids and allow the assembly to accept further coins
immediately after the coin has cleared the cells. This eliminates any timing
complications.

Assembly and Disassembly

Jo remove the body from frontplate, first unplug connectors (paraliel or serial
interface). Pull back catch (no. 6) and lift body upwards. When stop position
is reached the body can be withdrawn. Whean reassembling, line up keyhole
slots in body with retainers on frontplate. Push body forward and downwards,
When in position, catch (no. 6) will click into appropriate slot.

Manual No:420-5901 - Edition 1.0 = Sega Mega-Tech Owners Manual Page 17




Sega + Mega-Tech System Owners Manual

#

To remove Sorter
Undo screw {no. 19¢) and remove cover (no. 39). The sorer can be

unplugged and withdrawn. When reassembling ensure snubber (no. 25) is in
correct position.

Servicing the Sorter
When the three retaining screws {no. 30) are removed the sorter splits into
two parts allowing the solenoids and flaps to be serviced. To remove flap {no.

27} the spring retaining screw (no. 35) must be removed first, foliowed by the
spring (no. 32).

When reassembling the unit great care must be taken that neither springs
(nos. 32, 37} are damaged.

Accept Gate
To detach accept gate first slide spring (no. 41) towards rear of mech and

remove. Pull gate forward and downward. Care must be taken not to damage
spring.

Bulb

To replace the bulb it is necessary to remove bulb-holder. Place the blade of
a screwdriver between bulb holder (16) and the paraliel face of front entry
(13). A slight twist will dislodge the small round pin on bulb holder from the
slot in the front entry. The holder can now be removed. When the new bulb is
in position, the holder shouid first be located at the back of the entry and the
round pin pressed to locate in the appropriate slot.

Reject Button

To replace reject button it is necessary to remove button assembly. This is
achieved by removing screws (no. 45). When reassembling ensure cone
spring is in correct position,

Direct Reject
By removing screws (no. 58) the reject cup and flap can be detached.

if the reject Gate {no. 42), coils (nos. 14, 18, 20, 28) or circuit board need to
be removed please contact Coin Controls.

Application

This section is intended to help the user to get the most out of the SENTINEL
coin mechanism. It discusses power supplies, interfacing and coin sorting.
No applications section can ever be complete, however, and customers are
always very welcome 10 contact Coin Controls direct to discuss the
requirements of their particular coin handling applications and any other coin
handling matters.

Power Supplies

Voltage: 11 to 15 Volts DC.

Current: 220 mA continuous (nocminal}
0.7 Amps max. {no sorter fitted)
2.0 Amps max. {sorter fitted)

Rise Time: 200 msec max.

IMPORTANT NOTE: Operation of the coin mech.outside of.specification may
cause malfunction or damage. It is important to ensure sufficient power-
supply current capacity.

Page 18 Sega Mega-‘l:ech Owners Manual = Edition 1.0 « Manual No:420-5901




[ —— )

—

Sega + Mega-Tech System Owners Manual

Using the Parallel Interface

The parallel interface provides open-coliector output signatls which will
automatically puli-up or pull-down to any voltage in the range +5V to +24v
and OV to -20V respectively. Figure 3.2 is a circuit diagram of the Accept
output buffer in each of its three states.

Two types of output coding are available, dependent upon the state of the
SELECT input on the parallel interface. The output coding types are: I-Of-4
Coins and 8 Coin.

These are described in detail later on. Full electrical specifications for the
interface are given in Section 5.0.

All parallel interface signais are routed via Connector 1, the parallel interface
snnector. The following signals are available on this connector:

Pin No. Signal Name  Signal Description

1 COM A Supply input for output pull-up/pull-down. Allowing
this line to float disables all the accept outputs.

2 Al Accept Output 1. The Accept outputs are all
normally open-circuit, puliing to within | Volt of the
voltage on the COM A pin when true (iogic "1").

3 n.c. Polarising Position

4 A2 Accept Output 2

5 A3 Accept Output 3

6 SELECT 4-coin/8-coin interface selection. Thisline is a
passive pull-up, active pull-down signal Open
circuit: 4-coin interface.
Tied to Ov : 8-coin interface.

7 A4 Accept Output 4

8 4 Inhibit Coin Channel 4. The Inhibit inputs are all
passive pull-up, active pull-down. A coin channel is
enabled when the inhibit input is pulled to Ov and
disabled when it is left fioating.

g V (board) Power supply input. 11—15Vdc. 220mA nominal.
2.0 A peak

0 Ov

i 13 Inhibit input for Coin Channel 3.

12 12 Inhibit input for Coin Channel 2.

13 "1 Inhibit Input for Coin Channel 1.

14 158 Inhibit Input for Coin Channels 5 and 6.

5 17,8 Inhibit input for Coin Channels 7 and 8.
Cleaning

The plastic coin rundown should be cleaned periodically using a slightly

moist cloth. Access to the rundown is gained by folding back the reject flap. :

Cleaning of the sorter module may also be necessary from time to time on
some sites.

Faulty Operation
Both Master Programmer and Toolkit enable functional testing of the coin _
mechanism and are of particular use in determining if a fault resides in the

coin mech or the host machine. It is generally recommended that mechs with

electronic faults be returned te Coin Controls Ltd. for repair.

g}
.

Accapt Cutpul

Coom &

Com A connected to 0 to 20v

b
t
b--==-0 Accept Outpul

...... demeeo Com A

Com A not connected or Qv
<COM A <5v

Coim &

L S

Com A connected to
+5v to +24v

— [T gl
!‘ i

Actual circuit

Manual No:420-5901 + Edition 1.0 - Sega Mega-Tech Owners Manua! Page 19



Sega + Mega-Tech System Owners Manual

P Wy VT T S S L e e T Y e B et SO O S e e S R g S B ||

Fault Finding on the Sentinel

The following information is presented for customer guidance in determining
a suspected fault and does not cover all possible causes.

Symptom Investigate Possibl e
Mech does not work Connector Poor contact
{all coins reject) Bent Pins
Power Supply Not switched On.
Incorrect Voltage.

Inadequate Power.
Power supply Rise—
Time is too slow.

Inhibit Inputs Mech inhibited.
Accept Gate Gate not free or
dislocated
Accept channel Obstruction in channel
Mech takes first coin Parallel Interface Parallel I/Face
and then stops working  (If connected) COM A pin not
{See Section 3.3.1) connected.
Serial Interface Host Machine not
(If connected) responding
True coins reject Power Supply Voltage less than liv
too often (NB. voltage drop
when solenoid
activated).
Accept Gate Flap not free or
distocated
Connector Loose.
Rundown Dirty
Coins stick or jam Rundown, Dirt or Mechanical
in mech accept channel, damage/obstruction

reject channel,
accept gate,
sorter (it fitted).

Mounting of mech improperly mounted.
Body and/or Sorter.

One of the True Coins Parallel Interface Bent or broken

aiways rejects {If connected) Connection Pin,
Wrong Inhibit input
voltage

Page 20 Sega Mega-Tech Owners Manua! + Edition 1.0 + Manual No:420-5901



Sega * Mega-Tech System Owners Manual

e e e e

Symptom Investigate Possibl

False Coins in Cashbox  Accept Flap Flap spring loose or
flap dislocated

Coins in wrong Sorter Dirty, Mechanicat

Cashbox damage or
obstruction,
Solenoid failure or
wire broken

No Accept Signal Connector Connector Loose
or broken

Accept Channel Dirty or obstructed

{mech timeout)
Power Supply
11to 15 voltsde.  220mA nominal standby consumption
0.7 Amps Peak, 200 msec max. {no sorter)
2.0 Amps Peak, 600 msec max. (with sorter)
Rise Time=200 msec (max.)

Parallel Interface
COM A: + 5to +24 volis dc, 0 to -20 volts dc; 200mA max.

Al—A4: SOmA sink or source, credil puise BOmsec (+/-20%)
duration. {(See Section 3.2}

11—I7.8: 3K3 pult-up to on-board Svdc.
Open Circuit or greater than 3.6v—Coin Inhibited
Short to Ov or less than 1.2v —Coin enabled

inhibit input: signal range: Ov (abs. minimum) < Vin ¢ <5v (abs.
maximum)

Serial Interface
lIC Serial Interface Standard

Received Data Rate: 1500 baud (max.)
250 baud {min.)

Transmit Data Rate: Programmable 1000 baud or
500 baud (+/-20%).

Sdata, Sclk: 47K pull-up to on-board 5Sv dc.

"O"—Ov (abs. min} < Vin < 1.2v (abs. max.
"1"—3.6v(abs.min} < Vin < 24v (abs. max.)

IMPORTANT NOTE: Application of signals or voltages outside of those
specified above may cause damage to, or malfunction of the mechanism.

Environmental Conditions

Temperature range:- 0% C to 50° C ambient
Relative Humidity - 5% to 95% non-condensing

Manual No:420-5901 + Edition 1.0 + Sega Mega-Tech Owners Manuat Page 21




Sega - Mega-Tech System Owners Manual

The Sentinel Coin Mechanism Parts List

1 Coin entry and button housing
2 Bution
3 Bution §id
4 Bution cone sprng
5 Button label
B Quick release latch
7 Main body
8 M4.0 x 16.0 pozi pan HD screw
9 Front entry gate piece
10 Gate snubber
11 4.20 x 38" pozi CSK screw
12 Quick release latch spring
13 Front entry
14 2nd sense coil assembly.
15 Bulb
16 Lamp hokler
17 M4.0 full nut
18 1st sense coil assembly
104.20x 5/16" pozipan H D
20 3rd sense coil
21 Main body pole piece
22 P.C.B. cover plate
23 Solenoid assembly
24 Hinge pin spring
25 Main body snubber
26 Hinge pin
27 Sorter coin divertor flap
28 Final accept coil assembly
29 Printed circuit board assembly
30 4.20 x 5/8" pozi pan HD screw
31 Sorter centre plate
32 Coin divertor flap spring
33 Socrer solenoid flap
34 Solenoid flap pole piece
35 6.20 x 1/4" pozi pan HD screw
36 Solenoid coin flap assembly
37 Sorter solenoid cone spnng
38 Sorter svlenoid cover
39 Coin rundown and reject cover
40 Accept gate
41 Accept gate spning
42 Reject gate
43 Mech. mounting studs
44 Front plate
45 M3.0 x 6.0 pozi pan
HD screw
4§ Cotton catch
47 Pholo Cells
51 Top entry chute
52 Top entry gate piece
53 Top entry reject lever
54 Top entry reject lever pivot
5CTew
55 Top enlry reject lever spring
56 Reject clip
57 Reject clip flap
58 M3.0 x pozi pan HD
59 Single coin outlet

Page 22 Sega Mega-Tech Owners Manual - Edition 1.0 « Manual No:420-5901



—— — JE—

Sega + Mega-Tech System Owners Manual

_

14 PARTS LIST

Top Assy. Mega-Tech System for UK (MGS-0000) (D-Y)

a—\._.
{ N\
| \\_\ 8 206
L \/ 4
204 203 201 i
S 101 18 ?
!
/
I
."/
¥ = |
: g 202 208 209
2 2 2
|
0]

Manual No:420-5901 « Edition 1.0 + Sega Mega-Tech Owners Manua! Page 23



Sega - Mega-Tech System Owners Manual

| Brw mi': 1 ﬁh:,:; ?P;V Description
\L | MGS-1000 SE | 1 | AssycabinetforUK
2 | MGS-2000 SE | 1| Assy control panel
1 | Assy pwr supply UK
: MGS-0001 SE 1 | Baseboard
B34-6937 SE 1 | i\CBD Mega8
" [ 421-5800-96 SE 1 | Original Sea! Mega-Tech
| 421-0246 SE 1 | Sticker export England
; 117-5125 SE 1| Nameplate Elec. Spec England
421-5700 SE 1 | Sticker service instr. England
10 | SGB-1035X SE 1 | Keybag
11 | 421-6554 SE 1 | Sticker serial No. England
12 | 421-6671 SE 1 | Sticker Danger High Voltage
13 | 421-7418 SE 1 | Adiust Instr Sheet Mega-Tech
14 | SGM-2675 SE 1 | Polythene Bage 240x370
15 | SGM-3640 SE 1 | Polythene Lense cover upright
16 | 540-0006-01 . SE 0020 1 | Tamp/pr wrench M4
17 | 540-0007-01 1 | Tamp/pr wrench M5
18 | VC-1013 SE 2 | Bracket
19 | 421-17417 SE 1 ' Denomination sticker for 421-7416
20__| 420-5901 SE 1 | Owners manual Mega-Tech
420-5318 SE 1 | Display manual 20" 200-5080 UK
101 | 250-5010 SE 2 Super Clamp }
B837-69172_ | SE 1 Piggyboard
| 600-5811-3_ SE 1 | Wire harness Jst 7p
! SE 1446 2 | M screw PH M3x30
[ . | 2 | SprwasherM3 B
060-0003 SE 4 ! Fltwasher M3
050-0003 SE 2 | HexNutM3 B
(21 | 610-0239-01 SE 1 ‘Assy CRTGH8JYOOKY
22 | 610-0239-02 SE 1 | Assy CRTG H8 Space Harrier
610-0239-03 SE 1 | Assy CRTG H8 Suo/'l'hunder Blade
610-0233-04 SE 1 | Assy CRTG Hg Great Golt
610-0239-05 SE 1 I Assy CRTG H8 Aner Bumer
~ [610-0239-06 | SE 1 | AssyCRTGH8OutRun
"~ 1610-0239-07 | SE i Assy CRTG H8 Alien Syndrome
" ls10-0239-08 SE | Assy CRTG H8 Shinobi
'r 610-0239-09 | SE 1_| Assy CRTG HB Fantasy Zone
1
| — -
| +

ﬁ
Page 24 Sega Mega-Tech Owners Manual - Editson 1.0 = Manual No:420-5901



e

Sega + Mega-Tech System Owners Manual
“
—'-__l_-i—-—ll-l—lll——___

Drw Sega Part DLPart | Oty Crinti B
iy e N ber Description
201 | 000-0416-FS__ | SE 0755 4 | MScrew PHW/FS M4x16
202 | 000-0530 SE 2 | M Screw PH M5x30 _
203 | 001-0406 8 | M Screw FH M4x6 ]
204 | 005-3113-F B | W Screw RHW/F 3.1x13 i
205 [ 031-0510-8 3 | CRG BLT BLK M5x10 !
206 | 046-0001 J' 4 | SCR Nail Thh Stnls 1.5x16 |
207 | 051-0005 , 3 | Flg Nul M5 W
208 | 061-0005 , 2 | SprWasher M5 |
| 209 | 069-0001 4 | Fit Washer 5.5-20x1.6 |
| 210 | 032-0530 2 | Wing Bolt M5x30
211 1008-3113 6 | WScrFH3.1x13
:
'_!__._ ! — ——
~
| : J
[ T T
'r__. - S
L | .
oy i _ o
|
. ~ |
o —
- |
l _ _
| -
| s
I . ] o

Manual No:420-5901 « Edition 1.0 » Sega Mega-Tech Owners Manual Page 25




Sega + Mega-Tech System Owners Manual

ASSY CABINET FOR UK T
MGS-1000 D-Y = =

Dcir_- EC'-'..::D i

/ 8 106 °)*

'\ |I|| TR TR F"ﬂ‘

16 22 102 226

202 201
2 201 26 5

207 /

2

14 13 10

4

()/17 23 101 103 104 2% 2)°

(T

>

[ow

Manual No:420-5901 » Edition 1.0 + Sega Mega-Tech Owners Manual Page 27



Sega - Mega-Tech System Owners Manual
“

rig faa fart el g‘e\rf ! Description
1 MGS-1001 SE 1 | Assy Sub-cabinet UK~~~
MGS-1014 | SE | Chute Assy
MGS-1015 SE | Cash box T
4 |MGS-1016 SE
5 | MGS-1017 SE _Mounting Brkt Japanese )
5 | MGS-1034 SE 2 | Mounting Brkt Hantarex -
e , 1]
| — . 1 - S
8 |MGS-1020  |SE 2] -
9 MGS-1021 SE 1 -
(10 | MGS-1024 SE 1 i
11 | MGS-1025 SE 1 )
12 | MGS-1031 SE 1 _ )
13 | TB-3002 SE o ' )
14| TB-3003 SE 4 ) -
|15 1AB-0023 | SE
R ¥ '
18 | 200-5095 SE 0686 .
19 | 280-5112 SE f -
20 | 280-5113 SE j __ o -
; 4
: ! = : 1318 | Switch stopper
| Capswitch
[421-8591-01 | SE 1_| Sticker coin meter 7 ]
. 421-6672 SE | 1 | Sticker Main Switch P/on Prof
| 200-5126 SE 1419 1| Assy cir display 10"
SE | 4 | Hose ) B
101 | 8005007 | SE | 1 Cable & plug assy w/earth
102 | 509-0039 | MS 0060 | Sw Rocker type -
103 | 280-0417 SE 1| Terminal binding post bik
| 104 | 280-0418 SE 1 | Bushing strain relief 8.3
105 | 220-5217-01 SE 1 | Mag cntr 6 Dig 12v
106 | 509-5270 MS 0038 Sw Micro SPDT (CherryE68-00A)
107 | 280-5149 SE 4 | Clamp 052 B
108 | 280-5008 SEOBOB | 2
109 | 280-5009 SE 1679 3
110 _| 280-0419 SE 23_} ”
I I' -
t
|

Page 28 Sega Mega-Tech Owners Manual - Edition 1.0 + Manual No:420-5901



Sega + Mega-Tech System Owners Manual
m
ﬁ—-

T

D L Part
Mumber

SE 1326

- .

Description

M Scr PH WIS Mdxg

SE 0755

M Scr PH W/FS Mdx16

M Ser PH W/FS M4x35

M Scr PH W/S M5=B

SE 1352

M Scr PH W/S M5x25

W Scr RH WIF 3.1x13

—
*

W ScrFH 31210

TMP Prf Scr TH M5x20

Crg Bit Blk Mdx25

Flg Nut M4

M Scr RH W/FS Mdx20

hmnnmqgnmhahig

M Ser RH WIFS Mdx10

Manual No:420-5901 « Edition 1.0 + Sega Mega-Tech Owners Manual Page 29



Sega - Mega-Tech System Owners Manual

ASSY CABINET FOR UK ¥
MGS-1000 D-Y 202 21
205 51 1 ° 0
;
205 210
4 3
217 218 212 210 205 5 217 218
3 3 3 3 4 3 3
205
%5 1g
209 214
3 3

1918 1513 3 — ki

S~ 417 20

25

~

220 203 8

> 2 124 m
@ N |

7 21 207 216
10 23 22 6 4

D2 204 218

/ e 2 L
a3

2

11 101 208 215 218

[\_.r:"?{ s
=5 g

Manual No:420-5901 « Edition 1.0 »+ Sega Mega-Tech Owners Manual Page 31




Sega +« Mega-Tech System Owners Manual

Qty  Description
per

_ | Back door
| SE 1 Front door
s |SE )
| Monitor Bracket left
| Support Bracket
| Service Door
1 | Lock Bracket
| Stopper Bracket
|_Nut Plate.
_Floor Mat
1 | Lock Tng
| 117-509¢ | SE
| HN-1050 | SE 1
1
| SE 0906
Leg Adjuster

‘SE I Air Vent

|27 [600-5311-9 | SE

2

| 201 | DDD-0416-5 | SE 1430 4

| 202 | 000-0425 | SE 1448

203 | 000-0435 | SE

204 | 0000550

205 | 005-3113F

206 | 00B-0416 | SE 0259 | Tmp Prf Scr TH Max16

207 | 030-0520-F§ Hex BIt W/FS M5x20

208 | """t Hex Bit M6x30

HG 3

[210 ]031-0630-B N B i
I se 10| Scr Nail Thh Stnis 1.5x16

Hex Nut M6 -
| Fig Nut M4

| 214 | SE0376 | | Fig Nut M5
|SE1325 | | W Scr RHW/F 3.5x16

| 216 |059-0007 |SE1442 | 4 ] HexNut3/8x16

Page 32 Sega Mega-Tech Owners Manual + Edition 1.0 » Manual No:420-5901



Sega < Mega-Tech System Owners Manual
“

Drw |  SegaPart DL Part .
No. Number Musssbas Eﬁf Description
217 | 060-0006 SE 2027 6 | FR Wshr M6
218 | 061-0006 SE 0378 14 | Spr Wshr M6
219 | 069-0001 SE 1508 2 | Fit Wshr 5.5 20x1.6
220 | 069-0007 SE 1531 2 | Fit Wshr 4.4 16x1.6
202 101 102 22
4 m - 4
' 103 201
\ B
[Ee— = el Y,
‘/‘/ L
Dnlr T e P ’ DLP i
- Em:i rart 4 art E‘: Description
1 | MGS-1022 SE 1 | SpBase
2 | MGs-1023 SE 1 | Lamp Base Bracket
101 | 390-5266 LA 0037 2 | Lamp 240v 10w GRS
102 | 214-0105-01 ELD274 2 | Bulb SKI T-19
103 | 130-5025-02 SE 2 | Speaker 12xBcm Bohm 10w
104 | 280-0425 SE 2 | Gord Clamp
201 | 000-0416-FS | SE 0755 12| M Scrw PH WIFS Mdx16
202 | 000-0306-FS | SE "4 | M Scrw PH WIFS M3xB

Manual No:420-5901 - Edition 1.0 »

Sega Mega-Tech Qwners Manual Page 33




-

Sega * Mega-Tech System Owners Manual

T e e T, o Y Sl e e 2 S i o i L o i S it T W e a0 e S T

Assy Front Mask MGS-1025

203 201
203 201 g R 4 203 201

4 4 - 4 4

Drw Sega Part

DLPat | Oty Desorinti

No. MNumber MNumber [ per DESCrIptIDﬂ
: — S —
T MGS1026  [SE | 1 FroniMask o
3 [MGS-1028 | SE 1| Speaker Net Right _

4 | MGS-1029 | SE | 1 Speaker Net Left

5 | MGS-1030 | SE ~ | 1 Design Plate Mega System

6 | 422-0290 SE | 1 " How To Play St UK _ -
= 421-7416 | 'SE 1 Denomination Sticker UK

201  031-0410 | SE | 12 Crg Bl Blk Max10

203 ' 051-0004 | SE1173 | 12 Fig Nut M4

Page 34 Sega Mega-Tech Owners Manual + Edition 1.0 « Manual No:420-5901



Sega « Mega-Tech System Owners Manual

Switch Unit MGS-1031

" o

Volme Volme O

Sv 7 Left Right
2

; DL Par St
o] [ Mty | wey | Description
1 | AN-1270 | SE 1 | Sw Brid
" [ 421-5407 | SE | 1| Sticker Sw
101 | 220-5218 | EL 0185 2 | Rheo Stal 100 Ohm 10w
102 | 601-0042 | EL 0263 2 | Knob 22mm
103 | 509-5028 | SE 1328 3 | SwPBim

— e —

Manual No:420-5801 « Ediion 1.0 -+  Sega Mega-Tech Owners Manual Page 35




Sega -

Mega-Tech System Owners Manual

%

Assy Control Panel

201
2

103

- MGS-2000

[~

-

—_—

\oc/

zuT
:
hﬁ%ﬁ# f

:_:' i
‘F‘:'"I
%
_Jluj‘“_
pom— =
_—
————— I

I |
(1 | MGS-2001 | SE 1_| Control Panel
2 : Hook Right
. 1 | Hook Left
: - MGS-5106 SE 1 | Cushion Plate
15 VO-0001 SE 1 | Vinyl Overlay (UK) )
6 | PLE-OOM _ SE 1_| Plastic Edging (UK]
[ 101 | 610-0231-01 JO 0016 2 | o ' o
o 1 -
B . | -
S ..j,_ — - Tr _— B
o . - -

Page 36 Sega Mega-Tech Owners Maiwal + Edition 1.0 » Manual No-420-5901



—

Sega - Mega-Tech System Owners Manual
“
R ——————————
Assy Power Supply Export (UK) MGS-4000

e —

111 112 E??

— 4 113 114

206
2

x102 224

\:1

Manual No:420-5901 « Edition 1.0 «+ Sega Mega-Tech Owners Manual Page 37




Sega + Mega-Tech System Owners Manual

e Namber | O | Descripti

1 | MGS-4001 SE 1 | Wooden bass

2  |560-5145 TX 0069 1_| Pwr Transiormer 80-24py

3 [421-7424 SE 1_| Sticker fuse inst,

4 | VP-4002 SE 1_| Regulator unit

5 |421-658507 SE 1 | Sticker 14

101 | 400-5072 EL0334 1_| Switch Regulator

102 | 400-5070 SE 0752 1_| DC/DC Converto: Japa

103 | 270-5020 EL0273 1 _| Noise filte; B

104 | 117-5167 EL 0771 3_| Terminal 5p-2px2 shon

105 | 514-5029-02 EL 0770 1 | Fuse holder

106 FU 0068 1_| Fuse 5a 32mm Sio-Big

107 | 280-0419 SE 5 _| Harness lug

108 | 601-0769 SE 2_| Staple max #3

109 FU 0084 1 | Fuse 3.5 32mm Slo-Big

110

111 | 514-5028 SE 1_| Fuse holdar " p wicove
112 [514-0033 SE 1 _| Fuse 1a 6.4x30m1,

113 | 280-0297 SE 2 | One touch bush

114 | 601-0485 SE 0819 2 | One Jouch colla,

201 | 000-0414-FS | SE 1249 4_| M Scrw PH W/FS Maxi4

202 | 005-3516 SE 1325 B | W Scrw RH 3.5x16

203 | 005-3513 SE 2 | WScrw RH 3.5x13

204 | 020-0173 SE 4_| W Scrw RH 2.7x25 -

205 | 005-3510 SE 9 _| W Scrw RH 3.5x10

206 | 005-3525 SE 2 | W Serw RH 3.5x25 i

207 | 005-3516 SE 1325 1 | WSerw RH 3.5x16

i

I

Page 38 Sega Mega-Tech Owners Manual « Editien 1.0 . Manual Notd20.5g0-

a0 TR S—



Sega Enterprises, Ltd:
No. 2-12, Haneda 1 - Chome
Ohta-ku, Tokyo 144, Japan
Tel: (03) 743 7438
Fax: (03) 743 5539
TIx: J22357 SEGASTAR

© Sega 1989

Manual Design by
The Technical Dream Company
Tel: 01-886 1853




